
1.5 Warmup 

 

Determine the following limits: 
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7) For the function  y f x , you are told that  lim
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  .  What does this tell you about the 
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8) For the previous question, what is  lim
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Limits of Trigonometric Functions 
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Numerical Approach 

 

     Approaching x from the right       Approaching x from the left 
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The table suggests that 
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Graphical Approach 

 

Graphing  
sin x

y
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    yields the graph: 

 

 

The graph seems to suggest that: 
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Thus the graph seems to suggest that 
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To prove this geometrically requires the use of the Sandwich Theorem (Yummy, Yummy - also known as 

the Squeeze Theorem) 
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Geometric approach 
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Evaluate: 
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